Géavle BK
Ligan 6:2

IMP over féaltet, 16 bord, 32 par. Antal brickor: 12.

Plac Par Poang Namn MID Klubb
1 19 3.03 Rune Pettersson - Sune Fager 3141 3146 Gévle BK
2 8 2.83 Lennart Persson - Per-Erik Jansson 2978 2974 Géavle BK
3 12 2.45 Kristina Jénsson - Lars Andersson 15266 18938 Gavle BK - Skutskars BK
4 3 181 Niklas Dahlback - Lars Karlsson 28583 31365  Skutskars BK
5 31 1.74 Kjell Holmgren - Pierre Winberg 3368 87444  Bolinas BK
6 13 1.55 Monica Hedstréom - Jan Englund 3125 8058 Gavle BK
7 16 1.36 Lars Ericson - Bo Ericson 12536 2962  Gavle BK
8 22 1.34 Carola Vesterinen - Ingrid Stolt 31366 31664  Skutskars BK
9 6 1.19 Lillemor Jernberg - Per Jernberg 17143 12808 Gavle BK
10 26 0.96 Lars Wirdby - Sune Pierre 91069 58780 Gavle BK
11 23 0.85 Sune Wikstréom - Anders Nordlund 53825 48549 Gavle BK
12 24 0.66 Jan-Olof Lewin - Gunnar Lind 46618 45798 Gavle BK
13 15 0.44 Kjell Carlsson - Hakan Svensson 6176 3390 Bollnds BK
14 32 0.22 Staffan Cedvall - Lars Pettersson 17139 17138 Gavle BK
15 28 0.09 Sonja Pierre - Gudrun Haneseus 30322 46629 Gavle BK
16 4 0.01 Stefan Westlund - Anders Wike 13174 2966  Gavle BK
17 29 -0.01 Rolf Johnson - Gert Engberg 17144 50051 Gavle BK
18 5 -0.09 Richard Olofsson - Kjell du Puy 34699 59685 Gavle BK
19 1 -0.22 Tommy Andersson - Anders Haggstrém 45800 36725 Gavle BK
20 18 -0.44 Christina Ahl - Malin Helin 3140 30933 Gavle BK
21 9 -0.66 Lennart Sundin - Ingvar Karlsson 94052 39318 Géavle BK
22 10 -0.85 Christina Moberg - Annika Bengtzon 3293 35155  Skutskars BK - Gavle BK
23 7 -0.96 Siv Svensson - Rigmor Stain 30327 34242 Géavle BK
24 27 -1.19 UIf Nohrén - Rolf Scherdin 2798 3102 Uppsalabridgen - Gavle BK
25 11 -1.34 Marianne Melchior Ericson - Inga Karlsson 17146 7562  Skutskars BK - Gavle BK
26 17 -1.36 Birgitta Radberg - Kristina Olsson-Soderhall 17276 8166 Gavle BK - Skutskars BK
27 20 -1.55 Susanne Lind - Maj-Britt Lundberg 53831 88972 Géavle BK
28 2 -1.74 Jens Brodin - Erik Gulliksson 84125 24169 Gévle BK
29 30 -1.81 Kristina Olofsson - Ingegerd Eriksson 84980 50549 Sandvikens BK - Gavle BK
30 21 -2.45 Per Wengler - Géran Wengler 3361 3363 Gavle BK
31 25 -2.83 Yvonne Strém - Ronnie Pettersson 8195 26305 Géavle BK - Malar6 BS
32 14 -3.03 Anna Lundvall - Ann Fagerberg 83993 88969 Gavle BK - Skutskéars BK
13 D6 Basta kontrakt 14 497 Basta kontrakt 15 4 EKNn876 Basta kontrakt
Nord v 7653 6NT O =-1440 |Ost v DKn92 ANT S =430 Syd vE72 4¢ V =-130
Alla + KD5 Ingen + E852 NS 94
#D952 & ¢ v & NT #983 & ¢ v & NT #KD6 & ¢ v & NT
4 EKKn3 41074 N11511 48 4Knl106543 N 10108 8 10 | 4KD4 4102 N33763
vEK vD4 S11511 vE107643 ¢85 S 10108 8 10 v 64 v K108 S3376 3
#9642 ¢ EKn103 O 12127 1212 +43 + DKn106 033453 + EKn10532 ¢ D86 O 9 106 6 8
#EKn3  #K1064 VvV 12127 1212 #DKn104 &5 V33453 »104 #EKn872 vV 9 106 7 8
#9852 & EKD2 4953
v Kn10982 vK v DKn953
87 + K97 * K7
»87 #EK762 %953
Par  Kontr Ut Res Poang Par  Kontr Ut  Res Poang Par  Kontr Ut Res Poang
12 21 3NS+3 vJ 690 239.0 -239.0(31 2 2¢vDO-3 A 500 640 -640(28 5 5¢DV-1 vA 100 86.0 -86.0
25 8 3NV= ¢+K -600 11.0 -11.0| 7 26 3NN+1 «4 430 350 -35.0(12 21 4¢ V-1 «A 50 67.0 -67.0
7 26 44 V= ¢K -620 -5.0 5.0(12 21 3NN+1 8 430 350 -35.0(22 11 5¢ V-1 &K 50 67.0 -67.0
429 3NV+1 v5 -630 -5.0 50|16 17 3NN+1 +Q 430 350 -35.0|24 9 3vS-1 T -100 9.0 -9.0
13 20 3NV+1 &5 -630 -5.0 50|18 15 3NN+1 ¥8 430 350 -350(32 1 24 N-1 &A -100 9.0 -9.0
18 15 3NO+1 vJ -630 -5.0 5.0(23 10 3NN+1 &J 430 350 -35.0| 429 3¢ V+1 v2 -130 -5.0 5.0
14 19 3NV+2 ¢K -660 -20.0 20.0(27 6 3NS+1 &Q 430 35.0 -35.0(13 20 4¢ V= K -130 -5.0 5.0
16 17 3NV +2 &5 -660 -200 20.0| 4 29 3NS= v4 400 220 -22.0(14 19 4e¢ V= ¢9 -130 -5.0 5.0
22 11 3NV+2 95 -660 -20.0 20.0|13 20 3NN= +Q 400 220 -22.0(16 17 3¢ V+1 ¢4 -130 -5.0 5.0
24 9 3NV+2 &5 -660 -20.0  20.0(22 11 3NN= +Q 400 220 -22.0|18 15 3¢ V+1 &4A -130 -5.0 5.0
28 5 3NV+2 &2 -660 200 20.0(24 9 3NN= v6 400 220 -22.0(30 3 4¢ V= 4A  -130 -5.0 5.0
30 3 3NV+2 #2 -660 -20.0 20.0(28 5 3NN= v8 400 220 -220(25 8 3¢ V+2 +9 -150 -18.0 18.0
31 2 3NV+2 7 -660 -200 20.0|30 3 3NS= ¢4 400 220 -220(27 6 2NV+1 46 -150 -180 18.0
32 1 3NV+2 &5 -660 -200 20.0|25 8 3NN-1 +8 -50 -128.0 128.0|31 2 3¢ V+2 ¢9 -150 -18.0 18.0
23 10 3NV +3 &5 -690 -35.0 35.0(32 1 5#S-1 48 -50 -128.0 128.0| 7 26 INS-3 ¢5 -300 -77.0 77.0
27 6 3NV+3 ¥5 -690 -35.0 35.0(14 19 5¢ N-3 ¥8 -150 -150.0 150.0|{23 10 3v N-3 ¢6 -300 -770 77.0
16 «D8 Bésta kontrakt 17 a7 Bésta kontrakt 18 & Kn9653 Bésta kontrakt
Vast v EKn10743 ANT V D -1 200 Nord vE95 5NT O =-460 Ost v Kn6 ANT O =-430
oV ¢- Ingen + Kn9642 NS + D43
#Kn8432 & ¢ v & NT #6542 & ¢ v & NT #DKn9 & ¢ v & NT
& K652 4EKn1073 N 105 103 4 4 EKn8432 4 KD105 N27612 4ED1074 482 N3 2543
v 85 v D62 S 105 103 4 vK8 v Kn62 S27612 v EK2 vD10 S 33543
¢ EKn862 ¢ K43 028389 + KD8 +10 O 116 7 1111 + K109 ¢ 8765 O 10107 9 10
*K7 «109 V283809 #KD #E10873 vV 116 7 1111 *E6 *K8742 V 10107 9 10
494 496 oK
v K9 vD10743 v 987543
+ D10975 ¢+ E753 ¢ EKn2
#ED65 #Kn9 #1053
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
24 9 44 O-3 5 300 111.0 -111.0|12 21 64 V-1 vA 50 148.0 -148.0(13 20 3NV-1 vJ 50 137.0 -137.0
31 2 44 0-2 9vK 200 81.0 -81.0|18 15 64 O-1 +A 50 148.0 -148.0(23 10 3NV-1 ¢3 50 137.0 -137.0
28 5 3#S+2 &5 150 61.0 -61.0(22 11 64V-1 vA 50 148.0 -148.0(12 21 1a V+2 vJ -140 78.0 -78.0
7 26 29v N+1 &T 140 56.0 -56.0(30 3 44 V= ¢2 -420 5.0 50| 7 26 3NO= v9  -400 -16.0 16.0
32 1 2vN+1 3 140 56.0 -56.0| 4 29 54 O= ¢A -450 -9.0 9.0|18 15 3NV = vJ -400 -16.0 16.0
13 20 44 O-1 vK 100 41.0 -410| 7 26 44 V+1 2 -450 -9.0 9.0/24 9 3NV= 9  -400 -16.0 16.0
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16 17 3¢ V-1 #2 100 41.0 -41.0|13 20 44 V+1 ¢2 -450 -9.0 9.0|130 3 3NV= 45  -400 -16.0 16.0
27 6 44 V-1 &2 100 41.0 -41.0(23 10 44 V+1 ¢2 -450 -9.0 90|31 2 3NV= 3  -400 -16.0 16.0
4 29 54 N-1 &T -50 -15.0 15.0|27 6 44 O+1 3 -450 -9.0 9.0(14 19 3NV+1 &3 -430 -30.0 30.0
12 21 54DS-1 4K -100 -34.0 34028 5 44 V+1 ¢4 -450 -9.0 9.0(16 17 3NV+1 &3 -430 -30.0 30.0
18 15 5#4DN-1 «A -100 -34.0 340|31 2 54 0= v3 -450 -9.0 9.0|22 11 3NV+1 &3 -430 -30.0 30.0
22 11 34 O+1 vK -170 -60.0 60.0|32 1 44 V+1 <vA -450 -9.0 90|25 8 3NV+1 &3 -430 -30.0 30.0
23 10 34 O+1 vK -170 -60.0 60.0|25 8 44 V+2 &4  -480 -20.0 20.0|27 6 3NV+1 vJ -430 -30.0 30.0
14 19 34 V+2 vA -200 -71.0 71.0|14 19 44 V+3 &6 -510 -33.0 33032 1 3NV+1 &6 -430 -30.0 30.0
25 8 5vyDN-2 3 -300 -107.0 107.0(16 17 64 V= vA -980 -162.0 162.0| 4 29 3NV+2 &3 -460 -46.0 46.0
30 3 5vyDN-2 ¢3 -300 -107.0 107.0|24 9 6e& V= vyA -980 -162.0 162.0(28 5 3NV+2 &Q -460 -46.0 46.0
19 & E853 Basta kontrakt 20 4 E64 Basta kontrakt 21 & K962 Basta kontrakt
Syd vKn2 2NT S =120 Vast v 109542 5v N =650 Nord v K84 54 N =650
oV 465 Alla +108 NS + EK43
#D8765 & ¢ v & NT &EKnN2 & ¢ v & NT #102 & ¢ v & NT
4Kn764 D102 N6 6 858 4 KKn103 4 D975 N 115 115 8 aD4 & E7 N8 8 7 119
v6 v 9743 S 66 858 vKn v8 S 115 115 8 v 107 vDKn9653 S 8 8 7 119
¢ ED982 ¢ K4 O77585 ¢ E9642 ¢ KDKn75 028272 + D752 ¢ Kn109 O546 2 4
#EKKn #9432 V77585 D84 #1093 V28272 #KKn876 #D9 V54624
4 K9 482 & Kn10853
v EKD1085 v EKD763 vE2
+ Kn1073 +3 + 86
&10 K765 &E543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
22 11 2v S+3 &K 200 440 -44.0(31 2 4vyDS+1 vJ 990 134.0 -134.0|12 21 44 N+1 vQ 650 81.0 -81.0
16 17 3v S+1 &A 170 31.0 -31.0(25 8 5vDS= «T 850 96.0 -96.0(13 20 44 N+1 #9 650 81.0 -81.0
27 6 2v S+2 &A 170 31.0 -31.0(16 17 4v S+2 #4 680 39.0 -39.0(16 17 44 S+1 T 650 81.0 -81.0
4 29 2v S+1 &A 140 150 -15.0(30 3 4v S+2 vJ 680 39.0 -39.0(22 11 44 N+1 vQ 650 81.0 -81.0
7 26 3vS= A 140 150 -150| 4 29 5v S= T 650 26.0 -26.0(23 10 44 S+1 T 650 81.0 -81.0
12 21 3v S= &K 140 150 -15.0| 7 26 4v S+1 ¢A 650 26.0 -26.0(30 3 44 S+1 T 650 81.0 -81.0
13 20 2v S+1 &K 140 15,0 -15.0(22 11 5v S= 43 650 26.0 -26.0(31 2 44 S+1 T 650 81.0 -81.0
18 15 3v S= A 140 15,0 -15.0(23 10 4v S+1 ¢4 650 260 -26.0|24 9 44 S= vT 620 66.0 -66.0
25 8 3v S= &A 140 150 -15.0(24 9 4v S+1 vJ 650 26.0 -26.0(18 15 3vyDO-2 «J 300 -40.0 40.0
32 1 2vS+1 &A 140 150 -15.0(28 5 4v S+1 4T 650 26.0 -26.0| 4 29 34 S+2 T 200 -78.0 78.0
14 19 2v S= A 110 -1.0 10(32 1 4vS+1 +A 650 26.0 -26.0| 7 26 34 N+2 #Q 200 -78.0 78.0
28 5 2v S= &A 110 -1.0 10|12 21 54DO-2 vA 500 -30.0 30.0|14 19 34 S+2 T 200 -78.0 78.0
31 2 2vS= «A 110 -1.0 1.0(13 20 44 O-3 vA 300 -94.0 940(25 8 24 S+3 T 200 -78.0 78.0
23 10 3v S-1 #A -50 -63.0 63.0|18 15 5¢ O-3 vA 300 -94.0 94.0(27 6 34 N+2 vQ 200 -78.0 78.0
30 3 4v S-1 46 -50 -63.0 63.0(27 6 44 V-2 44 200 -125.0 125.0(32 1 34 S+2 v7 200 -78.0 78.0
24 9 4v S-2 #A -100 -82.0 82.0(14 19 44 O-1 vA 100 -147.0 147028 5 2v O-1 & 50 -125.0 125.0
22 4 K63 Basta kontrakt 23 4 Kn109643 Basta kontrakt 24 & EKn7 Basta kontrakt
Ost v2 3v O =-140 Syd v6 3v S =140 Vast v DKn42 ANTV =-430
oV + K87 Alla +D3 Ingen 410932
#Kn108632 & ¢ v o NT #Kn1074 & ¢ v o NT D4 & ¢ v o NT
4D10842 «E9 N7 5 456 «E87 &KD2 N6 7 987 495 & KD42 N2 4333
v 8765 v KKn43 S75 445 v8432 vED S77 987 v EK5 v 109763 S24233
+ Kn64 ¢ E1093 06 89 87 ¢ 1054 ¢ Kn872 05445 4 ¢ED65 o7 O 108 101010
&4 &EKD V68987 &#KD6 #9832 V54454 #EK105 #Kn72 V 119 101010
& Kn75 a5 410863
vED109 v KKn10975 v8
+ D52 + EK96 + KKn84
#975 &ES5 #9863
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
32 1 54 0-3 &9 300 102.0 -102.0|28 5 2¢vDS= ¢4 670 162.0 -162.0|23 10 3NV-2 +3 100 111.0 -111.0
14 19 49 O-2 +2 200 69.0 -69.0|16 17 2NV-5 v6 500 117.0 -117.0| 4 29 3NV-1 3 50 89.0 -89.0
24 9 4v V-2 8 200 69.0 -69.0(31 2 3NO-2 v9 200 21.0 -21.0(13 20 3NV-1 3 50 89.0 -89.0
31 2 49 0O-2 &5 200 69.0 -69.0( 7 26 1lv S+3 #Q 170 7.0 -7.0116 17 4v O-1 &6 50 89.0 -89.0
429 4¢vV-1 #J 100 29.0 -29.0(22 11 3v S+1 &5 170 7.0 -7.0(18 15 4v V-1 ¢T 50 89.0 -89.0
12 21 4v O-1 +2 100 29.0 -29.0(24 9 2vS+2 ¢4 170 7.0 70124 9 4v O-1 ¢4 50 89.0 -89.0
13 20 3NO-1 &7 100 29.0 -29.0(27 6 3vS+1 &K 170 7.0 70132 1 4v V-1 ¢3 50 89.0 -89.0
16 17 2NO-1 T 100 29.0 -29.0(32 1 2vS+2 &K 170 7.0 -7.0(12 21 3NV= +3  -400 -63.0 63.0
22 11 44 O-1 &5 100 29.0 -29.0(14 19 2vy S+1 &K 140 -7.0 7.0(27 6 3NV= v4  -400 -63.0 63.0
23 10 3NO-1 T 100 29.0 -29.0(18 15 2v S+1 &K 140 -7.0 70|14 19 4v V= ¢T -420 -72.0 72.0
27 6 4v V-1 &J 100 29.0 -29.0(30 3 3y S= &K 140 -7.0 70|25 8 4v V= ¢T -420 -72.0 72.0
726 29 O+1 ¢2 -140 -55.0 55.0( 4 29 24 N= «3 110 -22.0 22.0|28 5 4v V= «Q -420 -72.0 72.0
25 8 24 V+1 92 -140 -55.0 55.0(13 20 1v S+1 &7 110 -22.0 22.0| 7 26 3NV+1 v2 -430 -72.0 72.0
28 5 340+1 T -170 -68.0 68.023 10 2v S= &K 110 -22.0 220122 11 3NV+1 v4  -430 -72.0 72.0
18 15 3NO= ¢2 -600 -166.0 166.0(12 21 44 N-2 &9 -200 -1240 1240|31 2 3NV+1 2 -430 -72.0 72.0
30 3 4v 0= 45 -620 -168.0 168.0(25 8 2¢ S-2 &K -200 -1240 124.0(30 3 3NV+2 2 -460 -87.0 87.0
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